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I. (10 pts) Stake @ comparisen that anclogevtly illustrates the
concept of ivfinite 4 continvous wvs. finite & discrete.

Ex. all real vuwbers R (intinite & conkinuous)
vs.
o subset of in'rcgers Z (fivite 4 diccete)
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2. The <tate of an  ewokb-| person, YOU , is given Lj
3
o>, = %lv)Y * T eoby i+ %\@?Y

a) (10 Pts) Which] of #ue -Co“owiv\j LBs in Hhe operato—

space ME — YoU are already worwalized?
i
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2. (cont.)
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b) (O pts)

Explain

rulu.are.d 4 how

when o rwmalizedion
s Should, e

woutd

Le

(Mptcw.m\’cd .




3. Cowsider fTwo oObservers, ALICE & B8BOB , whose strowng - L
LQs N the —> YDV operator  space are 5|‘vcn bj
o £ R
1
n q4 . 27z Iz
L asy “mY BT 27
(S 2/Z
o I= 27
“lZ e B
I37 3137
& 23 fe) Ja'EY
—
BaY 3J37 2137
A=l [®] 213
337 331 337
Use +he sawe YOU state given . poblew 2.

a) (Bpts) What is fhe probabildy of ALKE Measuring Yoo

. the stete LONVES ME hrough

Boe Yoy (7

measures

strong ~ L, before
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B) (5 pts) What is tue pfobability of B0B weasuing You
in +kwe state LOVES ME fuough steug-L, Lefere
ALCE weasures YoU ?

e)l (s ?ts) What s 4he PrOLa\L‘(:l\I ok UCE Wt:)uf'wﬁ You
vt the state. LOVES ME  turouqh stvoug - L, @offe—
BOE Wweasures (bL -l—\,ur‘ousk S‘hb\ﬂj o i 4




d) (B Pts) What s +tue pm‘oads'u(ﬂ'y of BoB Measw"lvﬁ Yov
im  the state LOYES ME Twough s"rouﬂ -, ar¥er
ALICE  weasules XOU  turough  stowg= L 2

e) (5 pt) ¥ AUCE wants +o Lmd YOU in +ee state
LOVES ME , Shouwld she weasue YouU Farovql stroug — L
before or after BOB  dpes?
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£)(s Pts) £ BOB bads 4+ Lind YOV im Hwe  state
LOVES ME, swould he weasure YOU "H,\ruuﬂl« s+r°u5’l_
before or atter ALICE does?

3) (5 P“'SB N\«.\_’ 7 .S'h'ovlg—‘—— defned di‘F‘FCfe,l«\'Hts Lo
AllCE: £ . 1B068 ¢
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I 3 S'h'ov\g-L 4 S‘H‘ov»ﬁ"’a in the

are siven bg

l

MY

~~ 20 20,

QLT [ |°] Geg
20 2, 413
29 3902 3902

Using  the sawme YoU stake giver in problem 2, what
15 the prolealk: lity of -(lmd'mj oV in tue statre
LovES ME  Fhrough

a) (B pts) strong-L 7
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b) (5 pts) s+ron€— G

c) (% P'\’S) strong - L followed by strong- Q &
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d) (5 pts) S‘M:Mj - @ followed by Strowg - L 2

e) (Spts) IF [ want +o find YOU in  +ue stake
LOVES ME | Lhich LA(S) skhould |\ wse aud

n whetr ordec e
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5.(s F"S) Write 2-3  seatences ©owm YOU | perspeckive chGAdiE
eithel positien  ou outolegiea) causality C discvetization by

origin  or discretizaltion by poiesis), as applied = Q™) AR,

or

E14
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Extea Crepit (IO pts)
Consider the wor wi— -Cacj’ofcd

ME — YOoU 3‘.\/@\ "j

Using  4he YoU  state Howm  problew 2, what woud be

Hie worwmalizarion Lactor? What
of te woruwalied LA7

the opefatnr space

He wodniw  represendgfion-

35




txTeA Eyxtea Ceepit (1 - S gs)
N cwe vp o five other cowmon LOAS et listed
m  lecture. (I pt per valid LQ)
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